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15 minute time has been allotted to read
this question paper. The question paper
will be distributed at 10.15 a.m. From
10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not
write any answer on the answer-book
during this period.
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General Instructions :

Question paper is divided into 4 sections.

It has total 18 questions.
Section A - 1 Question no. 1 to 1
Section B — 3 Questions no. 2 to 4
Section C - 4 Questions no. 5 to 8
Section D - 10 Questions no. 9 to 18

Attempt questions as per specific instructions.

Write question no. in answer book before attempting it.

TTHT=T [A59TT:

ST Fo797 Wedl; GUST: Gl |
ST Jo797 STSCTGT (18) Fo7: Tl |
Gug: ‘F’ - 1- JITEETT 1
TUg: ‘T’ -3 - JTaEI 2 — 4
&Ug: “T’- 4 - FIIEEIr5 - 8

@us: ‘g’- 10 - FTTEIT 9 - 18
1aRRrse- [H33gaRr. 41; GHIge: |

ITRYIETHIT TG §d GIIIH JITTEIT GG |
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QuE: ‘&
AUTSATI-ATALTH 10 37gT:
ufears sraane=

Unseen Reading Comprehension

1.  ifaIRad Tame qfeedn YEauem ST &b foad

frefafaa e =t gt fe gu Tl % I HEhd W fafE :

Read the following passage and answer the given questions in Sanskrit :
TEhHadTE RAaYE TRd TIH-EIH aftfd add | arayf: g sagfn | g
A e A TR | ARAEERd: SMYRYA  TUIgAH, 9dd  — I
e 9 | 99 aug fovam 9 ;| o7 gl G W T | 9y ANy Ueh: U9
st | fafausnfay ageg=n: s vrd faefa | 9 wd ardvraaEn: |
$Y:, HAWEAT & THY:, qG STEHS ¢¥: YH: TR TTRIIg AT | o
TR 9gRig SRt IR =gy iUy STk HITH TfUaae | uar
T WRAd HEhIehel T JERH T | 00, ATl Td TaIHTa-TH
I I TR | Ffg T et fameafa de1 aHedr: Tg fommn: wiasfd |

4T

(1) UHYSH I : (hadd THGIH)

T vise 8§ IR AR : (Shaet 31 99)

Answer in one word : (Only two questions) 2x1=2
(1) R e v ?

(i) STEHTh hHI M TF ?

(iil) STMEATTCHRAT 3TET <UL shiget THdfd: ?

(3T) YoTaTeRM ITRA : (had TgIH)
qUl 9T T IR SN : (ohad &1 TRH)

Answer in a complete sentence : (Only two questions) 2x2=4
(i) WRAEEERd: YR g o add ?

(i) ohGT TTHTH ¢IM: YH: T TRIUG TN ?

(i) <higem: S wRd Faaf 2

11-22 3 P.T.O.
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I e fgheegrens (Tgfad) sies foraq |
39 3<0q 1 4 AT qF Weal H 3f=rd *fves fafay |

Write a suitable title for this passage in two or three words.

TSI, 3TRA : (had )
e I G : (e dF T9 )
Answer as directed : (Only three questions)
Q) qurgad’ 3f veed fersiwora fed

(A) I

(B)  3TERYdH

(C) WRAIEEh:
(D) 3fed

(i) ‘<@’ 3fd ugw fohamaey fuga :
(A) JAfed
(B) FH:
(C) T
(D) FY:
(i) ‘eerfudar fd framaes sue foga
(A) ST
(B) T
(©) T
(D)  SiSTeRET:
(iv) ‘wwe:’ 3fq gee foueieen o f sy 2
(A)  ®am
(B) I
(C) HHfd:
(D) 9HO=T:

4
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qvs: ‘@
TEATCHR-RTEH 15 3IgT:
TEATCHS T
Writing Skills
2. YAM/vad SUEETE Sid STy fied 96, gesw-eeres:
fheemld sheal o gH: foEq |
YRR i 3Te8 I A0S TTH o e foe T JeH1-a9 # "o # fou
U S1G] Shi TEEAT § Tk TAMT i qid hich TH-TH i IH: TR |

In an application written to the Principal for a good character certificate,

you need to fill in the blanks with the help of the words given in the box
below and rewrite the same. 1 0><§ =5
EEL|

N

(1) ,
EIEICIRE

o
M ey fagmey:, 99 foeet,

(i1)

3 Ao Teefm aq 79 wler-aiond: (i)

SITd: | 3718 GIETehed T goasiita: Ifasrad (iv) T Iefvter |
grgfd SaehheaM  Jouned TR ETTHE (v) Fad |
P HEH (vi) TeE (vii) ___ FdAg | W
HeTfaene™ B (viii) gAY: W | ARME Tadq TS
(ix) TR |

gIdTal: |

Had: ﬁw:/ﬂa?ﬁm farsam
feme (x) |
HesT

HEIGAT:, SEvehdl, HaATA, 3IgHMNG:, TATAIHUTY, JITe,
M5, TAH: /AT, 4, FEHH |

11-22 5 P.T.O.
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3. (%) WHNVI-UGTRECHI HERAAT ALIARIGARE] ARl Fheemr i e

HAl RGH forea -
ol T MU sreel St dgEar @ e foEt e § e T 9
HAT I 9-: ot
Complete the blanks of the following short story, with the help of
the words given in the box below and rewrite the same : 1 OXE =5
FUENIS IS ER N6 W TR G | d Ty T
(ii) g | 9 feenfia: ST (i) | Thal
HfTag =Y: T ARG | I: IFTH (iv) ST St |
AN = (v) ___ fquld | dvga™ (vi) I S
SISl Sgl: 3A¥E | 99 Saran: i (vii) g 3g9ad | d
STl ficdl Ut (viii) e FSd | | dWl
(ix) el | feoaes: Sem. (x) | @ fg
Hhl: HAHI |

woa

fewaee, fiem, walgy, ofy:, fosnagy:, Afeaem, a4fd =,
SITeH, 3Teh=d, AUgeTshur |

AYAT

(@) HAGIfIRgq-gare Nre T I ¢
frfafaa gag o ik Tom 9fte .

Fill in the blanks in the following conversation : 5x1=5

FIHT; — Toh THNY Afgeh | 3TEHTh I G fohH TR |

TImH — () |
GIHIT: — FIHHH AT USSR TAFH | 3T ST
31l & ?
11-22 6
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TlgeEl  — (i) |

FIHT: — W | 3T Fd FSeT: I TF FHaaf ¥ | 9Rd AW oA
Al HO*SIICI‘-I\?

TGl — (iii) |

FFHT: — MY W AT T ROMCI TH: Tshadi Ul Wa:
I | Th: I AU Wa: I | ¥ w9 T

~

AT ?

TZH  — (iv) |

FIHT: — W MY | IR SIS I H: I | THeEtare=
g %: I TadH ?

FlgH — (v) |

FIFT: — AW | AEHUE q 9 Ahgeeh SIAREAl: EaT hal |

ageIEyr-d TH: a4 3V TEU geal 9 SRIEA

gidfHad: A |
4.  AGTARGAATRIY HUSEH USRI TEhdd JIAG Hed

fFrefcfiad amei # 9 fohegl uter JTerRil 1 |&ehd | ITATG T

Translate any five sentences in Sanskrit from the following sentences : 5x1=5

i) 9 v fUar o @1y g A g |
The son goes to the village with his father.
(i) E % gEI AR IAE |

There are trees on both sides of the river.

Gii)  @far gfafeq feemas S 2

Sarita goes to school everyday.

(iv) STcTh hell | TeAlsh Td 8 |

The boys sing shlokas in class.

11-22 7 P.T.O.
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(v) BH 99 ¥HU & U =g ™ o |

We all went to Chandigarh for excursion.

(vi) Teoum et I} SEt |

Divya will go to Varanasi tomorrow.

(vii) oh{-ehT o TUQT 3T&AHH B |

Kanika’s father is a teacher.

Qus: ar’

AT H-SATHIITY 20 SIZT:

ATIIh-SATHIUT
Applied Grammar

ARG WTgd-UgHT f-ase af-d a1 $ed : (JINh haerq )
ffaRaad ol & W@ifhd 9@ w1 dY-omse s¥er wfF HiNT

(P B: TH)

Disjoin or join sandhis in the underlined words of the following
sentences : (Only six questions) :

(i) I HIsTY STa=hm: |

(i) ~ T¢m8 e + I Ta: |

(ifi) ~dfchATT TA=S TS |

(v) wa: TEeiy frezmmor: |

(v)  dgaq gavifig T wfd Trem |

(vi) UG |
(vil) =Ty fe S qiferdam |

8
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FifAfgqarey  @ifgd Ugq  3fud  Tmeque foug a1 edfaeheds:

o haN >
oHd : (Shad TTUSIhH )

feferfad arern ° T@iferd 9ei =1 3fd gaed ge 1 3fua faurg =61 yed foashe

& 9 ; (e ot )

Select the appropriate expound from the given choices for the

underlined words THEUE or TaUE of the following sentences

(Only five questions)

(1)

(i1)

(iii)

(iv)

STCIAT: ST ;|
(A) & dq

(B) + &

(C) &mHE:

(D) &S A1

M | St |

(A) gt Jra:

(B) = Ha:

(C) AT HIal I 9: qcaeeg]
(D) gfwEm: Ara:

TCEHTd ! afcdet e aneRa: |
(A) 3 =

(B) F¥: 9i: I F: 7,

(C) o 7Y

(D) FATUH SO FHTEN:

q: TIHYHE 931 A0 Fagisaid |
(A) o 3f=aq

~

o~

(B) 3furdq sHfdshe
(C) 3ferd e
(D) 3 qgaT

9

Previous Pathshala

~

q

5x1=5

P.T.O.



(v) TaEHd e fUall = @i s |
(A) =@ = foar =
(B) Wig: @ fuq: =
(©) Toar = fuar =
(D) w= ==

(vi) 91 wisgarof fem gost faeamree: g |
(A) To=emYy 9gm I= 4

(B) fo=sm: = agT: =

(C) Toeemy sHfaHm=

o~

(D) Ta=srA IgH =:
(vil) SeATEq T 9IEET Had |

(A) TRUIGHH

(B) TRUICHE

(C) TReTeH,

(D) TRUIcH

7.  AURgqaERy W@iigddeHl dgfad A OWTeia a1 Sehid-Sea=m
yed-faeheu: faqd : (haet TevesHy)
frafctfga IRl # {@iferd UGl o IUYTh TYh AT [aWh Th{d-Sc™ AN i
feu gu fashedt o & 9w @ (et ©: yw)

From the given choices, choose the correct combination of joint or disjoint
set of suffix for the underlined words in the following sentences :
(Only six questions) 6x1=6
(i)  PATERYN TC: |

(A) TH + d

(B) TH + Fdq

(C) TH + d=uq

(D) TH + IR

11-22 10
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(i1)

(ii1)

(iv)

(v)

(vi)

gfufsst: @1 ga g + g + oaq |
(A) TEH
(B) ®dam
(C) wiaar
(D) ®IiEH

fHgiss setem gel |
(A) & + HqY
(B) ¥ + &ddd
(C) & + dd

(D) & + ds3q,
T‘la'l'é’ Gﬁﬂ 3y Hd: |
(A) S + 3

(B) N9 + IM
(C) N9 + &d

(D) GﬂT{ + qeIq.

313: TgaRfu faresmmor: |
(A) 131 + gy

(B) Treg + s

(C) Treg + aqq

(D) T1g + 3q

TIPAR + S Fafaen fsormar S |
(A) TSHHM

(B) Tlf“l_gw'_‘zl'lﬁz

(C) TSHATR

(D) TFHROM,

11
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(vii) A F-EALHAH Alehed foh wef=d ?
(A) TWH¥H + g
(B) ETEHH + dq]
(C) EIHH + Fdaq
(D) EEHH +

8.  THIaH IYUe-foufred fugd | (had Ty
IUh ITUC-Tafch ®9 I T | (had diF T)

Choose the appropriate subordinate clause form. (Only three questions) 3x1=3

(i) T yfeaeay |

(A) HIAH
(B) HIeH
(C) I
(D) Iy
Gi) ®Ifesm
(A) AW

~

(B) 3IHHH

~

(C) 3IIHWY

~

(D) 3THHTRH

(iii) "R fRee= a9 R sgm: |
(A) 3T
(B) M
(C) 3=
(D) AR
(iv) T Tead: fhea T sy 2
(A) WY
(B) 3@H
(C) HaH

~

(D) HH

11-22 12
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Qus: 9’
(i) ufearasneTq
qiea-sraaied

Reading Comprehension

ARG T lScal TEHTHAM, T HEeha I

freafctfga e sl gt 38 WX UG Tl o IR T%hd H N :

25 JFT:

Read the following prose passage and answer the questions based on
them in Sanskrit :

ATgedt e | fuqeat wa | semieal wa | sifaferqar wa | A serRnt i,

T BfdeaT, T SaUfT | Ik gaiar aie oA, T gaqr |
1Y AT @ FHAfAheaT a1 FATafohedl a1 TG | ¥ T SIE0: FEHIRM:, ITH
ST, TGET: GHBML: :, IAT d OF Tt a2l T Jan: | TY e | T

3YCI: | TNT A |
q94T:
(1) UHYeH I : (hadd THGIH)

Th Iec H I ST : (Sheled &l T

Answer in one word : (Only two questions)

() T4a1 : wa ?

(i) gaufor (F=fq) ifa 7 afaqents 2

(iii) ST <hT ?

qUIATeRIM ITRA : (Shadl J¥gIH)

Ul TR H I T (ohad & )

Answer in a complete sentence : (Only two questions)
(i) ST shigem: & ?

(i)  hIgRI AT HfdqeaT ?

o~

(iii) oRTH cagrEATg 2

JYTEIT 3T : (Shaed TG
frdemgER 3w T« (SFea q T

Answer as directed : (Only two questions)
() ‘G 3k fRamEsr wqug fRA 2

(i) ‘i 3fd 9g&T fomivorg foq ?

(i) gy’ < v frd e 2

13
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AYIfTRad Te ufdcal TEETaH T H8hd- 3T
frafctfad ae i 9t 30 T TTNG T & I §&hd | ST

Read the following poetry and answer the questions based on them in
Sanskrit : 5

Z[Uﬁf[ﬂiéﬁ:{aﬁﬁ'ﬁm:,
Selt o dfd 7 9t Fee: |
fUen! g@=a%g U1 7 9,
U 9 g 9a 9 queh: ||

(1) UhYeH I : (hadd T¥HGIH)
Ush Yeg U 3T ST : (Shaed g I9)
Answer in one word : (Only two questions) 2x—=1
(i) Toit & afd ?
(i)  TUeh: & TOT AT ?
(i) Teiet: & 7 9f 2

(M) YUaTeRM ITRA : (had TgIH)
o A 3 AR ; (e 3 )
Answer in a complete sentence : (Only two questions) 2x1=2
() foee ad : 9 JHd 2
(i) o= 9 &: SAHId ?
(iii) ITEE: B IO 7 JH( ?

(3) IUfdym 3@ : (hadd IIgIH)
eaTgam ST & (sheet 1 9w)

Answer as directed : (Only two questions) 2x1=2

i) ‘R 3fd deEd qERTg T ?
i) ‘Fea:’ 3fd e fauwaug fy 2
(i) Tof’ 3fa hefaeer framug forg 2

14
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ARG ST FfSeal TETETHAH T HEehd I :

frfeiRaa Teamer o1 gt 36 W IMYTRG TRA1 o I THha | T :

Read the following part of a drama and answer the questions based on it
in Sanskrit : 5

TgreTaT — (®facan) dfg IHf=d @ Igg g faargered w&iieg 1 sa1¥ |

FUEAT — Tob ST qar ?

TgTeTET — Sraatet afasnty | Stemifa ug gt e Sfeeper ety |

PUSAT — AW AR FALR-E AL = | T AT A TghRAaead add
T ST HAY gty 3TUeTd J: a6l Taars S |

TETTdT — TTEd Heshd SISl AT e | T guel Sfiaquy Ifagag =
HEATY Fgd: kg Ry |

PUSHT — TSI TGN TSIl T |

mererar — (fagwa) afc & foma afaTg SIS qe1 Tehtiohl wiosay o
Ueh: 34TY: iy fafa: =3 |

PUST — h: 3UM: ?

TEITET — TEIa Aifgcd-ATeie sl wE foum sge: fger g
TerEy |

AT

(37) UHYH I : (had THGIH)
Ueh I6¢ W I ST : (Shaet & )
Answer in one word : (Only two questions) 2x—=1
(i) WTET ST Wiasafd ?
(i) AT Y T ?
(iii) TETAHT hed EIThdl 7 WA ?

(3T) qUiETRA ITRA : (had TeEI)
qU1 ST H I I ¢ (Sheret &1 )
Answer in a complete sentence : (Only two questions) 2x1=2
(i) TEH giical TiCaTaiayd $Husal Uid foh Hfd ?
(i) HSTE! =R 9g 9T foh shivtsafa 2
(iii) TR e fry everd 2
15 P.T.O.
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(3)

TG 3T : (hadd TG
frcemgaR S €T (e g 99 )

Answer as directed : (Only two questions) 2x1=2

() ‘frsate’ 3fa fRamaeer squg foh S ?

i) ‘wgra:’ sfd fasvudes foRrsgg fey 2

(iil) “T8Y 7 HEAMY TEohd: Afag ITRATY T I 3TgH i FA-HIG
FE I ?

IITANGT T2 Taef ToguTiga-Srea: QR 44: for@d

frfetRad wer 1 wrane) weu § fou T wreet & Wikt gH: fofem

Rewrite the gist of the following verse by filling it with the help of
the words given in the box : 3x1=3

AR THME, AATCYHTEAT |
epfecteruredy, ferdia safeemr ||

S ICIDE
e T () oo ypfe: @@t | Gi)
FYf=s-dl fafd: 39 | (ii) 3fed |

A

d, TEahAEd, gieerT |

Huat (OR)

JEAHTATAT g Hrane e for@a :
fou gu = wranerf # € g wrened A fofE

Write the correct essence from three essences of the following each
part :

(31) ‘FamTEATE! IeTEwRganE |
(i) 7 STAMERA AT g ThHYLHT e TR |
(i)  STAMERA IMHAT IGET I=H |
(i) EITEhT IMfad TR ferdem |
16
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(3m) ‘g ge wiifaraisfy

() T gy |

(i) < 99 90en KUY |

(il) 378 79 HicTHIET FadaH |
(3) ‘semediquty w wiasafq qEem |\’

(i) TH 9%d UqHT GRETed, T 3 STAMIHRAN g9y 378 ey |
(i) 3¢ I%q HHTEG 3T=MY 79 U9 90 |

(iii) 3eATEd sfa famaRicar Hisfy F=gse: 7 wafq |

13. AIARIA-IARE Ted 31T Rhed I HosuTiEd -¥TeaMH] Heraal IId
frefafigd woieh o fod gu st | Tk T < gfd wesw # fou g wregi
TR ¥ HIT
The prose-order rendering of the following verse is given. Fill in the

blanks with the help of words given in the box : 3x1=3

TN &Nfa: o, AEHIN SET |
I TS YIATH, TTAThIvIHEna: ||

I
FT JN: (1) AAEHU: ;AT (i)
ITAThIOT 39 (iii) TR |
HSSTET
T, SENR:, 3G |
11-22 17 P.T.O.
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14, F T Il @ WIS IUYhATR: 98 T $Ed |
® T % IR D1 @ TE o IUYH a1l oh a1 A Hif |
Match the sentences of column ‘%’ with suitable sentences of column
ol 4><é -2
‘h’ Tary: G’ Eqry:
i, SyalisgHg Wi 1. 4 o IRt |
i, oMY gar: vt 2. Tugisg soam g |
iii,. fooma: wafag st 3. oW wwElifaEmn |
iv.  IRIY §H T agEdt 4, Tl mAwgfsaETy |

15. ALfIRgqary {@iigd-qgHT SHEHER IgH 21 Aesmma: foean foreq :
frfaiRaa STl § T@iiehd g1 1 JHTHAR g 3 Tooil § AL foIfay

Choose and write the appropriate meanings of the underlined words in
the following sentences with the help of the words given in the box : 4><i =2

2
()  3fg o wufafafere ar |
(i) Tfeqed et GO ST |
(iil) AW FYATAHT G fHawyomg |
(iv) Hgad Aged foifaa: Fame qumer=ae: |

(i) HEFAATECAET AHTATRE: 10 S7gT:
HEha ATEed T ATH e

General Introduction to Sanskrit Literature

16. AUARIAITAHH T 7@ : (haed T
ffaRad sl & W faRau : (haa FF ww)

Answer the following questions : (Only three questions) 3x1=3
(1) TR T TTAT YA ST UISET FegHIRY: o ?
11-22 18
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(i)  HAgyTEgfaET: TE®: h: ?
(i) “ATeTET YIS TARGehT 1 ?
(iv) ‘Tresasey sfa - AR &: ?

17. HSNE] YEORTegHT ATere Fhee iy e fo@a | (shaa Joeem)
T § O ™ wegl f wemar @ fk wEl Al gfd e fafew |
(haet A I9)

Fill in the blanks with the help of the words given in the box.
(Only three questions) 3xI1=3

() Al AR wafd |

(i) ‘el 3fd T2’ oigeh: Afeq |

(iii) S-eRigdl T HId |

(iv)  shifergred Ued ‘Hegas HfEd |
RESL

TTeH, dUMHg:, WYUShIcTH, I |

18. gYfud Herdd :

e firem £ -

Match properly : 4x1=4

1. SR CINEISE |

TR ILONIE= e TgTehfel: WTH:

iii,  CHhET JUHY ITEH
iv. EIhAThR:

L e

11-22 19
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